Answer Key ¢ Lesson 10: Divide Fractions

Student Guide

Divide Fractions Divide Fractions (SG pp. 508-513)
@@ Ques'tlons 1-30 | |
Mo, Murphy'e Barery Draxymgs for Que.stlons 1-16 will vary. Sample
Draw pictures and use | i jon, drawings are provided.

fraction circle pieces, and number lines to solve the problems.

1. Mrs. Murphy is a baker. She has % *
24 cups of flour. If one batch of That r;:uns,“How many ; I . A- batCheS
cupcakes calls for 3 cups of groups of three are in 247" L,
flour, how many batches can i B Jx 8 batches;

she make? Tessie
A. How will you label your answer?
B. Work with a partner to solve the problem. Include a drawing. O O O O O O O O O O O O
. Mrs. Murphy has 2 cups of chocolate frosting that she wants to divide
equally among 5 cupcakes. How much frosting should she use to frost each
cupcake?
. Wil your answer be more han 1 orlessthan 17 QO0O)(0CO0O)(0COO) (OO0

B. How will you label your answer?
C. Work with a partner to solve the problem. Include a drawing.

2. A.* less than 1
B.* cups

I

5 equal groups? The answer ill be less than a whole number. If here.
were 4 cupcakes, each cupeake would get 5 cup frosting. Since there are

How much frosting for each cupeake? How can I divide 2 cups into
5 cupeakes, each will get a little less than 4 cup.

C.x % cups;

4 4

e | | 1o )
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3. A.* How many halves are in 3?

508 SG - Grade 5 - Unit 10 - Lesson 10 Divide Fractions B WX batches

C.* The quotient will be larger than 3 because
Student Guide - Page 508 you are dividing the 3 cups of butter into
smaller % cups.

D.* 6 batches;

3. Mrs. Murphy has 3 cups of butter. Each batch of vanilla frosting calls for l 1 1 l 1 1
% cup butter. How many batches of frosting can she make? 2 2 2 2 2 2
A. What are you trying to find out? How many are in ?
B. How will you label your answer? q q q
C. Will your answer be larger or smaller than 3 cups? Why?
D. Work with a partner to solve the problem. Include a drawing. B
E. Explain how Mrs. Murphy solved 3 + } this way: E.* Mrs. Murphy used repeated subtraction on
SR R N N R a number line to solve 3 + - . She took
<l | | 1y : 1
' t 1 ' 6 backwards jumps of 5.
4. Thereis %of a cake left at Mrs. Murphy’s I'I'. A. * HOW muCh Of the WhOle Cake Wlll eaCh

bakery. 4 customers want to share it . o, . ..
baken. 4 customerswantto hare \\ person get if - of it is divided among 4?
person get? — l
A. What trying to find out? H —_

i of the Whols Cake s being B.* less than 5

divided?

B. Will your answer be more than  or less than 5 ? C_ * Cake

C. How will you label your answer?

D. Work with a partner to solve the problem. Include a drawing. D. * L Cake’

E. Explain how Mrs. Murphy solved % =+ 4 this way: 8 ’
E.* Mrs. Murphy divided a rectangle in half
H and then divided the half into four equal
pieces. Each person would get % of the

whole cake.
Divide Fractions SG - Grade 5 Unit 10 - Lesson 10 509

Student Guide - Page 509

*Answers and/or discussion are included in the lesson.
| TG+ Grade 5 * Unit 10  Lesson 10 - Answer Key
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5.

16 tiles

(XXXXXXXXXXXXXXXX)
(XXXXXXXXXXXXXXXX)
(XXXXXXXXXXXXXXXX)
(XX XXXXXXXXXXXXXX)

6. Each gets % of a box

.: . ._ .: pieces of the smaller lengths of ribbon will she have?

Answer Key ¢ Lesson 10: Divide Fractions

EXP\’Q&))/_\

Arts and Crafts

Draw a picture for each problem and solve the problem.
Label your answers carefully.

5. Miguel has a bag of 56 mosaic tiles. How can he divide them evenly among
4 people?

6. Yolanda has 4 boxes of sequins. How can she divide the boxes evenly
among herself, Julia, Nisha, Fern, Suzanne, and Emily?

7. Nisha is cutting a 2-meter long ribbon into %—meter lengths. How many

2 meters

©

. Chris, Peter, and Fern want to share %of a yard of fabric equally. How much
of a yard will each person get?

9. A scoop holds % of a cup. How many scoops of glitter are needed to fill a
bottle that holds 3 cups?

7. 8 pieces

T ‘ i ‘ 1 ‘ i ‘ T ‘ i ‘ 1
il 7 7 F3 4 4 4
2 meter
1
8. Jofayard
Chris Peter Fern , . . ' y
S |
3
12 scoops
- 1 2
2
S 3 4
- 1 2
[¢]
e/ 1
S 3 4 4 cup scoop
e
S 3 4

10. A scoop holds %of a cup. How many scoops of colored sand are needed to
fill a bottle that holds 3 cups of sand?

11. Frank has 6‘5 of a sheets of construction paper. Each person needs % ofa
sheet for a craft. How many people can have a half-sheet of paper?

12. Each project requires %of a container of paint and there are 5 containers of
paint. How many projects can the students make?

N
"
w

. Mark has 2 hours to finish 6 crafts. If he

divides his time evenly, how much of an 0%
hour can he give to each craft? ‘After you solve a problem,
look back at your answer.
14. Nisha has } of a meter of ribbon with 205 [ (ML i)

which to make 3 tiny bows. How much

)
ZM

R 1

24 scoops

2 4 6 8 10

ribbon can she use for each bow?
yard
510 SG - Grade 5 - Unit 10 - Lesson 10 Divide Fractions
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12. 20 projects

20

4 +4 +4 +4 + 4
13. %ofanhour

< D

TG - Grade 5 - Unit 10 - Lesson 10 - Answer Key

—| 112 (3] 4
2 1
Slslel7]|s I4. 75 of a meter

1

12
—| 910 11| 12

1

2 g cup scoop % —
S 113141516 "
—~| 1718 19]20
e
S l21|22(23]24
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I5.* 24 pieces

J Check-In: Questions 15-16 0 1 2 3 4 5 6 7 8 9 10 11 12 13 14 15 16 17 18 19 20 21 22 23 24
15. Romesh has an 8-foot strip of balsa wood. He wants to cut ‘g -foot lengths } } } } } ! ! ! |
from the strip of wood. How many % -foot pieces of wood will he have? 0 1 2 3 4 5 6 7 8it.

16. There is % ball of yarn left. How much of the ball of yarn will Richard,
Yolanda, Fern, Michael, and Chris get if they share it?

16. % ball

Solve the problems. Aq
17. A 3+ 1= L1 D

B. 7+3=
18. A 8+ = B. 8= 1
19. A 5+ 1= B. §+5= A
20. A 2+ 5= B. 1+2=

21. Grace has % of a sheet of paper. She ~  __________,

divides it into 2 parts. ' .1 1 . —_ 1
A. How much of the whole sheet of i I 7' A' * 3 : 7 6 B' * 7 : 3 6
paper is one part? Write a ' 1 1 1
division number sentence. 1 I 8. A. * 8 i 32 B. * = = 8 = =
B. Use paper folding to find % X % i 4 4 32
Write a number sentence. ' . 1 _ 1 - _ 1
C. Co‘mpare m{mb$r sentences. R I 9' A' * 5 - T - 1 5 B' * T 5 - E
Isz+2=5X3? . 1 1. 1
22, Kathy divides } of a sheet of paper ~ —————--=--=-=-== 20. A*x2 + <= 16 B.* T 2= 16
into 3 parts.

21.

1
i

i

A. How much of the whole sheet |
of paper is one part? Write a H
division number sentence. |
l

1

i

i

i

o

. Use paper folding to find
+ X 5. Write a number
sentence. 1

. Compare number sentences. Is % +8= % X %?

(2]
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i
i

A. How much of the whole sheet of 1
paper is one part? Write a division i
I

i

|

I

i

X

number sentence.
" . 1 1
B. Usg paper folding to find 5 X 7.
Write a number sentence.

C. Compare number sentences. ~ — 7T TTTTTTTOC 23
Isy+4=3x37? .

1 .Hh_1
Student Guide - Page 511 . o+ 2= sheet
Ly l_1
27T G
Yes, + + 2 =+ X 4. Both equal .
23. Jason divides § of a sheet of paperinto ~ ————------------- 22 . % = 3= sheet
4 parts.
1w L
3072
Yes, +

+ 3 =1 X L. Both equal +-

*

D. Use the model above to solve % + 4. Write a number sentence.
E. Use paper folding to find % X ;‘ . Write a number sentence.

F. Compare the number sentences in Questions 23D-E.
Is% 4= % X212

*
w'»—- ("’I'_‘
X

%? L L
! X . Both equal 5.
Solve the problems.

2. A 1o4=[ ] 2. A 1:5=

B.[ |x4=1 B. [ |x5=1

28 A 8= ] 28.

2

B.[ |x8=1

S-EEER

512 G- Grade 5 - Unit 10 - Lesson 10 Divide Fractions

CPWPWPMMOODPOWPOD >
*
5
w|—
|
I
Il

?_; 24, WX 3 - 4 = Vi 25. A.* =4
P A 5ras O 1 _1 1 _1
* :.mj:sI::%, 7 : IjiJ::%’ % * 11_2X4—?1 B.* }_OX 5_17
§ 26 ?—3:? 27 A 7_3:ﬁ
: 1 _ 1 1 -
i - g X3=73 B. 5x3=+
g % X
1
X8

X

Student Guide - Page 512

*Answers and/or discussion are included in the lesson.
3 TG+ Grade 5 : Unit 10  Lesson 10 - Answer Key
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29. A, 1++=2 2x+=1
B+l +3+=3 3x1=1
C.l+4=4 4xL=1
D.1++=5 sxt=1
E. 1+4=10 10xL=1
F. 1+ 5=100 100 X d5 =1

30. A.1-2=1% 1x2=1
B.1+-3=4%4 1 x3=
C.l-4=4% I x4=1
D.1+5=+ 1xs5=1
E. 1+-10=1; Lx10=1
F. 1+ 100 = 135 o5 X 100=1

Homework (SG pp. 513-514)
Questions 1-9

l. |Ru|e: Divide by &+ | 2. |Ru|e: Divide by &

Copyright © Kendall Hunt Publishing Company

Ci

the cor ing division and

Look for patterns.

20 A 1:4=[ | 2xi=[ |
B.1-1=] | sxi=] ]
o1ei-0] Ny
o sxi-0]
E 1+ 4= 10x5=[ ]
Eo1eds=] ] 100 % &5 =[ ]

30. A 1:2= | ixz=[]
B.1-3=] | ixs=| |
c.1+a= | Ixa=] |
D.1:5= | Ixs=| ]
E 1-10=] ] Lxo=] |
Fo1+100=] ] wx00= |

c

the Function

leave any improper fractions.

Write the answers in simplest form. Do not

I Homework

1. | Rule: Divide by +

2. |Rule: Divide by +

Input Output Input Output
20 20
16 16
12 12
8 8
4 4

Divide Fractions

SG-Grade 5+ Unit10 - Lesson10 513

Input Output Input Output
20 10 20 5
16 8 16 4
12 6 12 3
8 4 8 2
4 2 4 1

*Answers and/or discussion are included in the lesson.

TG - Grade 5 - Unit 10 - Lesson 10 - Answer Key
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3. | Rule: Divide by 2

[
Input Output ‘\% ct,f
2 d
1 L
1
2
%
T (£
8

Draw a picture and solve the problem. Write a number sentence including
labels.
4. Mrs. Murphy is placing scoops of small candies into bags.
A. The scoop is ‘g of a cup. How many scoops of candy will fit in a 4-cup
bag?
B. The scoop is % of a cup. How many scoops of candy will fit in a 3-cup
bag?
C. The scoop is%U of a cup. How many scoops of candy will fit in a 2% -cup
bag?

o

. There is %of a pizza in the refrigerator. How much will Nisha and Fern get if
they share it evenly?

o

. Michael has % bottle of lemonade. How much of the bottle will 5 people get
if they share it equally?

~

. How much of a bag will Nisha, Fern, and Mark get if they share%of abag of
chips equally?

8. 4 1 of a submarine sandwich is one serving. How many servings are in
sandwnches7

’;:,—.:_—*s — =
@‘Jw mﬁa{w ]

©

. Write a story about 5 = g. Solve the problem. Include a drawing and label
your answer.

514 5G - Grade 5 - Unit 10 - Lesson 10 Divide Fractions
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3.

4.

©®NOo O

Rule: Divide by 2

Input Output
2 1
1
1 2
1 1
z 4
1 1
4 3
1 L
8 16

A. 12 scoops

1123
415]6
71819
10| 11 | 12
13114115

C. 25 scoops

10+ 10 + 5 = 25

Each girl will get 15
g bottle

Each child will get % bag.
9 servings

L of a pizza.

Stories will vary. Sample story:

Ana had 5 feet of ribbon. She cut it into
%— foot lengths. She had 30 smaller ribbons
when she was done.

0123456 7 8910111213141516 17 181920 21 22 23 242526 27 28 29 30

5 1G-Grade5 - Unit10 - Lesson 10 - Answer Key
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Student Activity Book
Name Date
Fraction Operations (SAB p. 423) Fraction Operations
Homework M Momework IS
Questions 1_5 Ci the i il Write your in si form. Do
not leave any improper fractions.
l. |Rule: Add % | 2. |Rule: Subtract %
1. |Rule: Add + | 2. |Rule: Subtract 4 |
Input Output Input Output T Output Input Output
El 4= 7 §-3 I P t-4-
2 71_11 4 3 s i
3 6 6 5 10 F 2
7 2 _12 11 9 4 _2 E 5
10 1 10 5 10 0°- 3 4 7
1 3 6 5 3 2
% 4 7 14
i | % | 1
3. [Rule: Multiply by + | 4. | Rule: Divide by
_ Input Output Input Output
£ 2 2xt= 12 12+ 4=
3. | Rule: Multiply by & | L. | Rule: Divide by & H E 6
< 5 3
Input Output Input Output 5 ey 2
2 2_1 : s
£ £=3 12 24 5 s !
a1 1 6 12 8 5. What is the difference between “divide 12 in half” and “divide 12 by a half"?
4 8 Should the answer be larger or smaller than the original amount?
5 3=24 3 6
Divide Fractions SAB. Grade 5. Unit 10 - Lesson 10 423
1 3
1+ 3 2 4
3 3
& i6 ! 2

Student Activity Book - Page 423

5. Possible response: 12 divided in half is
12 + 2 = 6. 12 divided by a half is
12 + 5 =24. You are trying to find out how
many halves are in 12, so the answer (24) will
be greater than the original amount (12.)

TG - Grade 5 - Unit 10 - Lesson 10 - Answer Key 6
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Teacher Guide

Name Date

Multiply and Divide Fractions Quiz

1. Use any strategy to solve each problem. Show your work. Write the answers
in simplest form. Do not leave any improper fractions.

1_ 3w2_ [P . 1. 4=
A 3x1= B. &x2= C.5+1= D. }+4=
2. A. Use area models like fraction circle pieces or a rectangle, number lines,

number sentences, drawings, or a story to show what 6 + % means.

. Will the quotient of 6 + % be greater than or less than 6? Why?

2]

. Solve 6 + % Include a number sentence.

3. A. Use area models like fraction circle pieces or a rectangle, number lines,
number sentences, drawings, or a story to show what % X 6 means.

hing Company

. Will the product of% X 6 be greater than or less than 6? Why?

o

Solve% % 6. Include a number sentence.

Copyright © Kendall Hu
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4. Here is Grace’s grandmother’s biscuit recipe:

EEEREEEER

Grandmd'’s Buttermilk Biscuits  aes one posen
* 2 cups flour

* 34 teaspoons baking powder

* 7 teaspoons baking soda

* £ feaspoons salt

* 2 tablespoons butter

* 2 tablespoons shortening

« 1 cup of buttermilk, chilled

A. There are 2 biscuits in one serving. What fraction of a dozen is
one serving?

B. How many cups of flour will Grace need to make ‘5 of the recipe?

C. Grace has a container with 13 teaspoons of baking powder. Does she
have enough baking powder to make 4-dozen biscuits? How do you
know?

fuedwo) BuSIang 1UNH [12pudy @ 14BUATOD

D. Find the number of teaspoons of salt that are in 4-dozen biscuits.

2 TG Grade 5 Unit10 - Lesson 10 Assessment Master

Teacher Guide - Page 2

Multiply and Divide Fractions
Quiz (TG p. 1-2) Questions 1-4

7 TG-:Grade5 - Unit10 - Lesson 10 - Answer Key

Solutions strategies will vary. Possible
strategies are given.

4 +4 +4 + 4 + 4

D. ++4=+

y’ \’

‘ 1

A. 6 candy bar are divided into thirds. How
many pieces are there? There are 18 pieces
that are each % of a candy bar.

1[{2(3[|4|5]|6]||7]|8]9

10(11]12] |13|14|15] [16]17]18

B. The quotient will be more than 6 because
you are finding how many thirds are in 6.

C.6++4=18

D D

B. The product will be less than 6 because you
are putting together 6 small parts each less
than one.

C. ¥ x6=%=2
A. 3 or+ofadozen
B. % of a cup

C. No. 4 X 3 teaspoons is 12. I can estimate
that 4 X - teaspoons more will be more
than 13 teaspoons.

D. 3 teaspoons
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